A 07-15-09

Reminders 07-15-09;

- 3rd Webassign due Tomorrow 11:59PM

- Hand in 3rd Assignment Problems Tomorrow
- Exam 1 Chapters 1-3 Today

- 4th Webassign Ch 4&35 Due Tuesday July 21

- Website for practicing on trigonometry. Site
provides solutions to problems:

www. hotmath.com/help/gt/genericalg2/
index.html

Objectives:

- Vectors Addition
- Forces

- Newton's Laws
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Vector Worksheet
Let’s add the following three vectors. Sketch the vectors.
Vector A: 30.0m/s at 36.9° West of South o
Vector B; 60:0m7/s atr 6624 North of West D = l:
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Vector C. 90.0m/s ap45.5\ East of North o= \r\ s \’Wtj
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1st step: find the x-compo gmt of A: .%0 OCO&GO 36‘1)
DY~ 3o Os\n&(,‘[:-\ﬂ

find the x-component of B: gaglz Cos é(/g . l: -2‘-{‘0%

. B "
find the x-component of C: L‘O 0 sin q S~5' 6H-275
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2nd step: find the y-component of A: 30.0 cos 3b '? PR S
- =
find the y-component of B: (DO AN %L{-“ 5505
= M
find the y-component of C: CLO Cos 4 g S - g 5'[ .§

™ step: M
- —tgum the x-components:+93‘g' /S /\
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Sum the y-components:

émﬁp: Use Pythagorean Theorem to find magnitude of 99 dm /
resultant N)

o220 44412 5 643

5m step: Calculate direction of resultant vector using

qqm;
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The length of vector A is 250 units and the
length of vector B is 350 units. If these two
vectors are added together, what is the
maximum possible length of their sum?

Please illustrate your response with a
drawing. 35S0

" >

38O ASO |

S

0 ceovs When they aaR
Poralle
What is the minimum possible length of

their sum? Please illustrate your response
with a drawing.
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